
nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1
rfOgfSjf^/ ;fd'bflos 
zf}rfnosf] pQ/L s'gfaf^ h'gf 
dNnsf] #/ b]lv vf]nfemg]{ 
l;(L;Dd Uoflgªafn lgdf)f{ ug{ rfOgfSjf^/ 1 214,286 30 500,000 70 714,285.71

2 e}/j*f+*f :yflo vfg]kfgL lj:tf/ 
jf=;*s lgdf)f{ e}/j*f+*f 1 214,286 30 500,000 70 714,285.71

3 Hof]tL lg=df=lj df sDkfp)* afn 
lgdf)f{ ug{ rf}sL^f]n 85,714 30 200,000 70 285,714.29

4

e}/j k|f=lj df v]n d}bfg lgdf)f{ ug{ 42,857 30 100,000 70 142,857.14
5 cDa/ df=lj lj!fg k|of]uzfvfdf 

kmlg{r/ lgdf)f{ 85,714 30 200,000 70 285,714.29
6 afn aflnsf tyf o'jf nlIft 

r]tgfd'ns tyf tflnd sfo{qmd 
;+rfng ug{ 1 0.00 0 50,000 100 83,333

7 h]i^ gful/s :jf:y kl/If)f lzjL/ 
;+rfng ug{ 1 0 0 50,000 100 50,000.00

642,857 1,600,000.0 2,276,190

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 vfg]kfgL kfO{k nfO{g lj:tf/ / (n 
vGg] sfd vfg]kfgL ^\of+sLaf^ 

ljGbjf;LgL ^f]n;Dd  
2

183,333

40 275,000 60 458,333

2 (n lgsf; ;lxt kmf]x/ lgoGq)f af;'b]j dfu{df /x]sf] 
(ndf 166,667

40 250,000 60 416,667

3 sNe {̂ lgdf)f{ ljGwjf;LgL ^f]n 133,333 40 200,000 60 333,333

4 ;fj{hlgs -0-0-10_ w'/ hUufdf 
kfs{ lgdf)f{

ledkm]bL a;kfs{ 
50,000

40 75,000 60 125,000

5 :Nofa (nfg / kvf{n lgdf)f{ lht]Gb| >]i&sf] #/ 
k%f*L 66,667

40 100,000 60 166,667

6 ;fj{hlgs zf}rfno lgdf)f{ xf]l*ª 
af]*{

rf}sL^f]n lt/ lt/] 
wf/f glhs 133,333

40 200,000 60 333,333

7 l/^]lgª jfn ;lxtsf] (n lgdf)f{ / 
(n lgdf)f{

lqe'jg /fhky jg 
r]s kf]i^ b]vL tf/f 
nfdf sf] #/ ;Dd / 
lqe'jg /fhky sf] 
/fd axfb'/ lyªsf] 
#/ b]lv ;'o{dfof 

hf]zLsf] hUuf;Ddsf] 

133,333 40 200,000 60 333,333

hDdf

j*f g+= 2

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

0

x]^f}+*f pkdxfgu/kflnsf sfof{no
cf=a=2073¿074 sf] nflu :jLs[t j:tL :t/Lo -j*f :t/Lo_ nlIft If]q k"jf{wf/ sfo{qmd tyf cfof]hgfx?

j*f g+= 1

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



8 j*f g+= 2 / j*f g+= 5 hf]*\g] k'n 
dd{t / vf]N;L lgsf; dgsfdgf rf]ssf]

133,333 40 200,000 60 333,333
1,000,000 1,500,000 2,500,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1

s+lqm^ ;*s lgdf{)f -150dL_

;dfh sNof)f ^f]n 
x'k|rf}/ cuf*Laf^ 
Dofg]hDofG^ hfg] 
;*s / ;'o{ l#ld/]sf] 
#/ k%f*Lsf] ;*s 400000 50 400,000 50 800000

2

s+lqm^ ;*s lgdf{)f -150dL_ >L s[i)f /]UdLsf] #/ 
k"j{af^ ubf}{O{ ;*s 
hf]*g] 400000 50 400,000 50 800000

3

s+lqm^ ;*s lgdf{)f 
>[hgfky ^f]=lj=; -
ab|L rf}nfufO{sf] #/ 
x'b}+ kfl/hftky nfdf 
xf*{j]o/;Dd_ 200000 50 200,000 50 400000

4

s+lqm^ ;*s lgdf{)f -75 dL_ ;'o{ e}/j /f]* ^f]n -
s[i)f cu|jfnsf] #/ 
k%f*Laf^ kf~rfog 
art tyf C)f 
;xsf/L cuf*L ;Dd_

200000 50 200,000 50 400000

5

dGbL/ lgdf)f{
a|Dxf, lji)f', dx]]Zj/ 
dGbL/ lgdf)f{ 26250 35 48,750 65 75,000

6 zf}rfno lgdf)f{ hfd] dl:hb ;ldlt 26250 35 48,750 65 75,000
7 kvf{n lgdf)f{ -40 dL_ >lds df=lj 26250 35 48,750 65 75,000

8
lj!fg k|of]uzfvf lgdf)f{ e'^gb]jL pRr df=lj 26250 35 48,750 65 75,000

9 k"jf{wf/ lgdf{)f cf=/f=df=lj 26250 35 48,750 65 75,000

10
se{* xn dd{t ;+ef/

lhNnf v]ns'b 
ljsf; ;ldlt 26250 35 48,750 65 75,000

11
vfg]kfgL tyf zf}rfno lrN*]|g kfs{ 

Joj:yfkg ;ldlt 26250 35 48,750 65 75,000
1,383,750 1,541,250 2,925,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 q+mls* ;*s lgdf{)f sfo{ -25 dL=_
nIdL ljgfos ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

2 q+mls* ;*s lgdf{)f sfo{ -25 dL=_
dfR%f kfng s'gf 
^f]n ljsf; ;+:yf 

101,500 58 73,500 42 175,000

3 q+mls* ;*s lgdf{)f sfo{ -25 dL=_
;/:jtL ^f]n ljsf; 
;+:yf 

101,500 58 73,500 42 175,000

nfut cg'dfg

hDdf

j*f g+= 5

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

j*f g+= 4

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 



4 q+mls* ;*s lgdf{)f sfo{ -25 dL=_
af^Lsf ^f]n ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

5 q+mls* ;*s lgdf{)f sfo{ -25 dL=_
dgsfdgf kfs{ 
l;+rfO{ ^f]n lj=;+:yf 

101,500 58 73,500 42 175,000

6 q+mls* ;*s lgdf{)f sfo{ -25 dL=_
l;tfgu/ kfs{ ^f]n 
ljsf; ;+:yf 

101,500 58 73,500 42 175,000

7 q+mls* ;*s lgdf{)f sfo{ -19 dL=_
/TgsfnL ;*s 
/flwsf e^\/fO{

77,140 58 55,860 42 133,000

8

vfg]kfgL

lkKn]s'gf, ;Ltfgu/, 
('+u]wf/f vfg]kfgL, 
/fO{^f]n, blIf)fsfnL 
sfnf]kq] tkm{ k|ult^f]n 60,000 20 240,000 80 300,000

9
;*s sfnf] kq] ?b]|Zj/ ^f]n lj=;+:yf 200,000 50 200,000 50 400,000

10
kLr dd{t

;r]t ^f]n ljsf; 
;+:yf 30,000 30 70,000 70 100,000

11 ;fgf]kf]v/f rf]s b]vL /TgsfnL 
;*s sNe {̂ ;Dd 20,000 20 80,000 80 100,000

12 u|]jlnª 20,000 20 80,000 80 100,000
13 lkmlnª tyf (n afnHof]lt df=lj 20,000 20 80,000 80 100,000
14 wfld{s ko{^g tyf d& dlGb/ 40,000 20 160,000 80 200,000

15 /fO{^f]n k"j{tkm{ ;*s :t/f]gtL -
dlxnf nlIft_ 30,000 30 70,000 70 100,000

16 /fO{^f]n klZrd tkm{ -afnaflnsf 
nlIft_ 30,000 30 70,000 70 100,000

1,136,140 1,546,860.00 2,683,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 ;*s :tl/s/)f -cflbjf;L, 
hghflt, afnaflnsf nlIft_ sNof)f^f/ af:g] 

6 85,714 30    200,000 70 285,714

2 ljB'tLs/)f ug{ 2 df]^/ vl/b ug]{ -
#gZofd rf}nfufO{, l*naxfb'/ 
u'?ª / gj/fh uf}td ;d]t_ 
hghflt dlxnfnlIft

xflQn]^ l;+rfO{ cfof]hgf

85,714 30    

200,000

70 285,714

3 af^f] :t/Ls/)f / l/^]lgªafn 
lgdf)f{ -dlxnf / afnaflnsf nlIft_

r'Rr]vf]nf b]lv s/f{vf]nf hfg] af^f]

42,857 30    

100,000

70 142,857

4 vfg]kfgL cfof]hgf -dlxnf, a[$ 
a[$f, afnaflnsf nlIft_ k|eftsflng ^f]n 

85,714 30    

200,000
70 285,714

5 v]ns'b j+z uf]kfn o'jf Sna 21,429 30    50,000 70 71,429
6 s[lif dfu{ ;*s :t/Ls/)f -dlxnf, 

cfbLjfzL tyf afnaflnsf nlIft_

rf}#*f b]lv sfnLkf]v/L

42,857 30    

100,000

70 142,857

hDdf

j*f g+= 6

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



7 s[lif dfu{ :t/Ls/)f -cflbjf;L, 
dlxnf nlIft_ sNof)f ^f]n b]lv xflQn]^

42,857 30    

100,000
70 142,857

8 g+of af^f] lgdf)f{sf] nflu -a[$, 
a[$f, afnaflnsf tyf dlxnf 
nlIft_ rf}#*f ahf/af^ x]Ny kf]i^ hfg]

42,857 30    

100,000

70 142,857

9 af^f] :t/Ls/)f tyf u|fj]n -
afnaflnsf nlIft_ af?n] s'dn^f/ :s'n hfg] 

42,857 30    

100,000
70 142,857

10 vfg]kfgL cfof]hgf -dlxnf, 
hghflt tyf blnt nlIft_ zflGt^f]n 

85,714 30    

200,000
70 285,714

11 s+lqm^ :Nofa ;+/If)f lbJogu/ 42,857 30    100,000 70 142,857
12 af^f] :t/Ls/)f /fdgu/ 15 ljufxf bfxfnsf] #/hfg] af^f] 21,429 30    50,000 70 71,429
13 k'/fgf] vfg]kfgL ^+sL cfjZos 

dd{t ;'wf/ tyf :t/Ls/)f /fdgu/

64,286 30    

150,000
70 214,286

14 kmf]x/ Joj:yfkgsf] nflu ^i^ 
lgdf)f{ sfo{s]f nflu -jftfj/)f ;+u 
;DalGwt_ rf}#*f ahf/sf]

42,857 30    

100,000

70 142,857

15 j*f :t/Lo v]ns'b sfo{sf nflu 21,429 30    50,000 70 71,429

771,429 1,800,000 2,571,429

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 s+lqm^ ;*s lgdf{)f kz'klt dfu{ 7 75,000 30    175,000 70 250,000
2 (n lgdf)f{ cu|f&] xl/ofnL 214,286 30    500,000 70 714,286
3 ;fd'bflos ejg ls/)frf]s 42,857 30    100,000 70 142,857

4 s+lqm^ ;*s lgdf{)f

#nfg ^f]n /fd 
axfb'/ ansf] #/ 
tkm{sf 128,571 30    

300,000 70

428,571

5 gu/ :jf:y s]]Gb| ;+rfng vr{ 10,714 30    25,000 70 35,714
6 l;+rfO{ s'nf] tyf (n lgdf)f{ agb]aL ky 64,286 30    150,000 70 214,286
7 >L lgjf; l(s'/f] kf^L{ lgdf)f{ 32,143 30    75,000 70 107,143
8 xl/ofnL ;r]tgf s]]Gb| ;+rfng 7 42,857 30    100,000 70 142,857

610,714 1,425,000 2,035,714

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 s+lqm^ ;*s lgdf{)f lxdr'nL dfu{ 8 128,571 30    300,000 70 428,571
2 s+lqm^ ;*s lgdf{)f ljGbaf;LgL 128,571 30    300,000 70 428,571
3 lj/]Gb| dfu{ lg/Gt/tf 128,571 30    300,000 70 428,571
4 pm gu/sf] 3 gDa/ af^f] cfndsf] 

#/ x'b}+ 128,571 30    300,000 70 428,571
5 s+lqm^ ;*s lgdf{)f /fwf :jfdL dfu{ 128,571 30    300,000 70 428,571
6 ;efxn /fw]/fw] dGbL/ 21,429 30    50,000 70 71,429

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

j*f g+= 8

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

j*f g+= 7



7 ljleGg ;*sx? :t/Ls/)f ug]{ gf/fo)f #nfgsf] #/ 
hfg] t];|f] af^f], 
;fd'bflos dfu{, 
/]jtL ;/sf] #/ hfg] 
af^f], Ps]*]dL dfu{, 
b]jgu/hfg] af]^f] 

21,429 30    50,000 70 71,429
685,714 1,600,000 2,285,714

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 cw'/f] s+lqm^ /f]* lgdf)f{ sfo{ kl/jt{g kysf] O{gf/ 
If]qdf cw'/f] /f]*

133,333.33 40 200,000.00 60 333,333.33
2 af^f] (nfg sfo{

nfn axfb'/ yfkfsf] 
#/af^ s'Zdf)* 
;/f]j/ hfg]af^f] 200,000.00 40 300,000.00 60 500,000.00

3 em\ofn(f]sf h*fg sfo{ k|ult pRr df=lj sf] 
5 sf]&fsf] ^x/fdf

66,666.67 40 100,000.00 60 166,666.67
4 ejg dd{t ;+ef/ tyf lu|n xfNg] 

sfo{
cf]d ^f]nljsf; 
;+:yfsf] ejg 25,000.00 20 100,000.00 80 125,000.00

5 v]ns'bsf] -km'^an_ nflu 0.00 0 50,000.00 100 50,000.00
6 ljBfnosf] :t//f]Ggltsf nflu lbJoHof]lt 25,000.00 20 100,000.00 80 125,000.00
7 j*f:t/Lo afn Snjsf] nflu 5,000.00 20 20,000.00 80 25,000.00
8 cw'/f] af^f] lgdf{)f -wd{ky_ sfo{

zflnu|fd Gof}kfg]sf] 
#/ b]lv cw'/f] 
d]g/f]* hfg] af^f]] -
wd{ky_ 100,000.00 40 150,000.00 60 250,000.00

555,000 1,020,000 1,575,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 s+lqm^ ;*s lgdf{)f ;kmn ^f]n 480,000 40 720,000 60 1,200,000
2 k"jf{wf/ lgdf{)f cv)* xl/lst{g 25,000 25 75,000 75 100,000
3 k"jf{wf/ lgdf{)f xg'dfg dlGb/ 18,750 25 56,250 75 75,000
4 k"jf{wf/ lgdf{)f !fgbf :s'n 37,500 25 112,500 75 150,000
5 (n lgdf{)f Go'/]gL 120,000 40 180,000 60 300,000
6 s+lqm^ ;*s lgdf{)f gd'gf ^f]n 84,000 40 126,000 60 210,000
7 s+lqm^ ;*s lgdf{)f gd'gf ^f]n 98,000 40 147,000 60 245,000

863,250 1,416,750 2,280,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 vfg]kfgL kfOk nfOg lj:tf/ gjnk'/ ;*s ^f]n 11 85,714 30 200,000 70 285,714
2 s+lqm^ ;*s lgdf{)f l;$fy{sf] a'$dfu{ 107,143 30 250,000 70 357,143
3 l;+(L lgdf)f{ u)f]z :yfgdf 107,143 30 250,000 70 357,143

j*f g+= 11

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

nfut cg'dfg

hDdf

j*f g+= 10

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

hDdf

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 

j*f g+= 9



4

l;(L lgdf)f{
lhDaf*f+*fsf] lxn] 
vf]N;Ldf 107,143 30 250,000 70 357,143

5 gjnk'/ /fKtL tNnf]tfn kmd{ l;+rfO{ 
of]hgf 42,857 30

100,000
70 142,857

6 gu/ :jf:y s]Gb| ;+rfng 42,857 30 100,000 70 142,857
7 sNe {̂ lgdf)f{ ;/:jtLdf 85,714 30 200,000 70 285,714
8 s+lqm^ ;*s lgdf{)f uf]lnkmg^f/ 85,714 30 200,000 70 285,714
9 afnSna ;[b[l(s/)f 21,429 30 50,000 70 71,429

685,714 1,600,000 2,285,714

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 ;*s :t/Ls/)f /d]z rf]s b]lv 
#*]/L*f*f ;Ddsf] 
af^f] :tLs/)f 7 33,333

25

100,000 75 133,333
;*s :t/Ls/)f cfkwfk hfg] ;*s 

b]lv sfG%fnfn 
uf]n]sf] #/ x'b} 
vf]/+ªsf] ;*sdf 
hf]*\g] 

8 33,333

25

100,000 75 133,333
vfg]kfgL of]hgf

cfNbdf/, tNnf]^f]n -
anfdL ^f]n_ 

9

33,333

25 100,000

75 133,333
gof «̂ofs vf]Ng] tLy{ lyªsf] #/ x''b} 

lyª ;fO{nfsf] #/af^ 
k|tfk #nfgsf] #/ 
x'b} Clifdfof 
:ofªtfgsf] #/  / 
/fKtLvf]nf hf]*\g] 

8

50,000

25

150,000 75 200,000
;*s :t/Ls/)f rf/#/] aLr j:tL 

df]^/af^f] :t/Ls/)f
9

33,333
25 100,000

75 133,333
l;+(L lgdf{)f l;Gtfg ^f]n / 

/dG^f/ #^\^\]bdf/ 2 
7

16,667
25 50,000

75 66,667
vfg]kfgL of]hgf ;Nn]bdf/ vfg]kfgL 

dd{t ;Def/ ug{] 
12

16,667
25 50,000

75 66,667

vfg]kfgL of]hgf
cf+kwfk vfg]kfgL 
dd{t ug{] sfo{

8
16,667

25 50,000
75 66,667

2
ejg lgdf{)f

bfx ;+:sf/ ;dflw 
:yn 

9
50,000

25 150,000
75 200,000

3 ;*s :t/Ls/)f z]/ axfb'/ ansf] 
#/b]lv tNnf] ;*s 
hf]*\g\] 

8

8,333

25 25,000

75 33,333
4 vfg]kfgL of]hgf s'n]vfgL ^f]n 

vfg]kfgL dd{t ;+ef/
8

8,333
25 25,000

75 33,333
5 s'nf] dd{t of]hgf cfNbdf/ tNnf] ^f]n -

anfdL ^f]n_ 
9

16,667
25 50,000

75 66,667
6 vfg]kfgL of]hgf rf/#/] lr;fkfgL wf/f 

lgdf{)f 
9

33,333
25 100,000

75 133,333

hDdf

j*f g+= 12

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



7 df]^/ af^f] :t/Ls/)f cfNbdf/ rf]saf^ 
sf]O{/fnfsf] #/ x'b} 
afn sNof)f k|f=lj= 
hf]*\g]

9

16,667

25 50,000

75 66,667
8 l;kd'ns tfnLd sfo{qmd bnLtx?sf] nflu 7,8,9 16,667 25 50,000 75 66,667
9 v]ns'b ;fdu|L afnaflnsfsf] nflu 7,8,9 16,667 25 50,000 75 66,667

400,000 1,200,000 1,600,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

s_ k|ltef lg=df=lj= 
b]lv ljr/f]* ;Ddsf] 
;*s v)*

v_ ;[hglzn ^f]n 
b]lv rf/ #/] /dG^f/ 
hf]*\g] af^f]

u_ ;Lu|]gL /ft]df ]̂ 
b]lv ;[hglzn ^f]n 
hf]*\g] ;*s

#_ jfOjf ^f]n b]lv 
u'Daf *f*f x'b} j/fn 
^f]n ;Ddsf] af^f]

ª_ ldng rf]s b]lv 
j/lkkn hf]*\g] b'j} 
af^f]

s_ xfQLuf}*f x'b} 
sNof)f^f/ hf]*\g] 
af^f]

v_ xfQLuf}*f 'x'b} 
cfu|fnL ^f]n hf]*\g] 
af^f]

u_ j]n*f*f b]lv 
k|lt^f]n ;Ddsf] af^f]

#_ j]n*f*f b]lv 
uf]&bdf/ ;Ddsf] af^f]

ª_ xfQLuf}+*f #f]n 
b]lv cfu|fnL ^f]n 
;Ddsf] af^f]

s_ uf*f vf]N;Ldf 
cGt]li^ #f^ lgdf{)f

v_ uf]kfn]Zj/ 
dGbL/df vfg]kfgL 
^\of+sL lgdf{)f

75 200,0003 lgDg sfo{x? 50,000 25 150,000

100,000 25 300,000 75 400,000

2 ;*s :t/Ls/)f 4 125,000 25

hDdf

j*f g+= 13

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

375,000 75 500,000

1 ;*s :t/Ls/)f 4,5



u_ kl/jt{g 
;fd'bflos jg 
If]qleq /x]sf] 
v]ns'b d}bfg 
:t/Ls/)f

#_ s]gd ^f]n hfg] 
af^f] :t/Ls/)f

ª_ l;u|]gL d]g 
/f]*b]lv k'%f/ ?Daf 
^f]n hfg] af^f] ;'wf/

s_ k|eft jfn 
ljsf; s]Gb|sf] dd{t 
;Def/

v_ a/fn ^f]nsf] 
vf]N;Ldf 90 dL=dL= 
sf] 3 yfg Xo'd kfO{k 
pknAw u/fpg]

s_ k|ltef lg=df=lj= 
x'b} bf]ª ^f]n, a/fn 
^f]n, l;u|]gL cflzif 
rr{ #/ ;Dd hfg] 
af^f],

v_ uf*f vf]N;fdf 
v]n d}bfg :t/Ls/)f 
ug{]

u_ a'$ df=lj= 
xfQLuf}+*fdf zf}rfno 
/ kvf{n lgdf{)f

6 ;*s :t/Ls/)f

vfg]kfgL ^\ofªsL 
b]lv ;]km ;]G^/ 
lj;#/] ^f]n ;*s 
vf]Ng] sfo{ -
sNof)f^f/_

4 25,000 25 75,000 75 100,000

7 nIfLt ju{ sfo{qmd nIfLt ju{ sfo{qmd 4,5 43,750 25 131,250 75 175,000
 1,343,750    1,331,250     1,775,000 

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

s_ /ftf]df^] 
Uff}td^f]n hfg] af^f] 
(nfg ug{] sfo{

1 37,500 25 112,500 75 150,000

v_ /ftf]df^] %'dL 
^f]n hfg] af^f]

1 30,000 25 90,000 75 120,000

u_ l/dfn ^f]n 
psfnf] af^f] (nfg

1 30,000 25 90,000 75 120,000

j*f g+= 14

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

500,000 25 150,000 75 200,000

hDdf

75 200,000

4 lgDg sfo{x? 500,000 25 150,000 75 200,000

3 lgDg sfo{x? 50,000 25 150,000

1 af^f] (nfg

5 lgDg sfo{x?



#_ &fs'/ l;+x #/ 
%]pdf af^f] (nfg

1 15,000 25 45,000 75 60,000

ª_ lkknaf]^ ^f]n 
psfnf] (nfg

1 45,000 25 135,000 75 180,000

r_ blIf)fsfnL hfg] 
af^f] (nfg

1 45,000 25 135,000 75 180,000

%_ xl/ofnL ^f]n 
psfnf] (nfg

1 45,000 25 135,000 75 180,000

h_ a'$rf]s b]lv 
ldng rf]s hfg 
ljr/f]* (nfg

1 45,000 25 135,000 75 180,000

em_ k|tfk^f]n psfnf] 
(nfg

1 30,000 25 90,000 75 120,000

`_ xjNbf/ ^f]n 
b]lv rf}nfufO{ ^f]n 
hfg] af^f] (nfg

1 15,000 25 45,000 75 60,000

^_ alb| clwsf/Lsf] 
vf]N;Lg]/ (nfg sfo{

1 30,000 25 90,000 75 120,000

s_ kf}*]n ^f]n hfg] 
af^f]df Xo'd kfO{k

1 16,667 25 50,000 75 66,667

v_ dx]Gb| pRr 
df=lj= b]lv 
?kfv]tLsf] #/ 
ljrsf] vf]N;Ldf 
Xo'd kfOk

1 21,333 25 64,000 75 85,333

u_ dx]Gb| pRr df=lj= 
hfg] af^f]df Xo'd 
kfO{k

1 8,667 25 26,000 75 34,667

s_ 14 g+= j*fsf] 
ljleGg :yfgdf 
cfjZostf cg';f/ 
u|]jn ug{] sfo{

1 43,333 25 130,000 75 173,333

v_ o'jf tyf v]ns'b 1 13,333 25 40,000 75 53,333

u_ dx]Gb| pRr df=lj= 
sf] ef}lts ;'wf/

1 23,333 25 70,000 75 93,333

kljq k|f=lj= sf] 
kvf{n lgdf{)f

1 10,000 25 30,000 75 40,000

504,167 1,512,500 2,016,667

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

s_ dlxnfsf] 
sfo{qmdsf] nflu

7,500.00 25 22,500.00 75 30,000.00

Xo'd kfO{k la%ofpg]

3 cGo sfo{x?

1
nlIft ju{sf] cfjZostf 
cg';f/sf] of]hgf ;+rfngsf nflu 
:jLs[t 

hDdf

j*f g+= 15

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

1 af^f] (nfg

2



v_ afnafnLsfsf] 
sfo{qmdsf] nflu 

7,500.00 25 22,500.00 75 30,000.00

u_ bnLt ju{sf] 
sfo{qmdsf] nflu

11,250.00 25 33,750.00 75 45,000.00

#_ hghflt ju{sf] 
sfo{qmdsf] nflu

7,500.00 25 22,500.00 75 30,000.00

ª_ v]ns'b -o'jf_ 
ju{sf] sfo{qmdsf] 
nflu

11,250.00 25 33,750.00 75 45,000.00

ckfª\u ju{sf] 
sfo{qmdsf] nflu

7,500.00 25 22,500.00 75 30,000.00

h]i& gful/s 
sfo{qmdsf] nflu

11,250.00 25 33,750.00 75 45,000.00

s[lif sfo{qmdsf] nflu 11,250.00 25 33,750.00 75 45,000.00

s_ sflnsf lg=df=lj= 12,500.00 25 37,500.00 75 50,000.00

v_ rGb|f]bo lg=df=lj= 12,500.00 25 37,500.00 75 50,000.00

s_ ;fljs j*f g+|+= 2 
/ 3 j*fsf] nflu

37,500.00 25 112,500.00 75 150,000.00

v_ l;DkfgLsf] d/)f 
#f^sf] nflu

12,500.00 25 37,500.00 75 50,000.00

u_ ^' ]̂kfgLsf] d/)f 
#f^sf] nflu

12,500.00 25 37,500.00 75 50,000.00

s_ s'df/ jHo'sf] 
#/ cufl*sf] df]* 
;'wf/

12,500.00 25 37,500.00 75 50,000.00

v_ &'nf]sfG%f] 
nf]Krgsf] #/ 
cufl*sf] df]* ;'wf/

12,500.00 25 37,500.00 75 50,000.00

u_ j}bf/ ^f]nsf] 
dh'jf hfg] df]* ;'wf/

12,500.00 25 37,500.00 75 50,000.00

s_ /fd jxfb'/ 
lyªsf] #/ cufl*sf] 
vfN^f] k'g{]

12,500.00 25 37,500.00 75 50,000.00

v_ '̂^]kfgL 
psfnf]sf] vfN^f] k'g{]

18,750.00 25 56,250.00 75 75,000.00

6 af^f] ;a]{If)f
;*s /]vf+sgsf]] 
nflu cldg vr{

25,000.00 25 75,000.00 75 100,000.00

7 vfg]kfgL cfof]hgf
vfg]kfgL cfof]hgfsf] 
nflu ly|km]h nfO{g 
lj:tf/

25,000.00 25 75,000.00 75 100,000.00

281,250 843,750 1,125,000

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

3 d/)f #f^

4 df]* lgdf{)f

5 vfN^f] k'g{]

1
nlIft ju{sf] cfjZostf 
cg';f/sf] of]hgf ;+rfngsf nflu 
:jLs[t 

2 ljBfno dd{t

hDdf

j*f g+= 16



nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1

do'/wfk Sna #/ b]lv sfnf]kfgL 
pQ/kfgL hfg] af^f] :Nofk (nfg do'/wfk ,sfnf]kfgL, pQ/kfgL16 116,667 25 350,000 75 466,667

2

nIdLrf]s x'b} gofa:tL *fOe/*f*f 
hfg] af^f] gfnL lgdf{)f nIdLrf]s, gofa:tL, *fOEf/*f*f16 116,667 25 350,000 75 466,667

3 u}/L^f]n gofa:tL aLrsf] vf]NrLdf 
:Nofk (nfg u}/L^f]n 16 100,000 25 300,000 75 400,000

4 df]Qmfg dfOnLsf] #/ b]lv psfnf] 
x'b} :s'n hf]*g] af^f]df :Nofk 
(nfg :s'n^f]n 16 100,000 25 300,000 75 400,000

5 af^f] gS;f+sg tyf :tl/s/)f ;fljs 1 j*fdf 16 66,667 25 200,000 75 266,667
500,000 1,500,000 2,000,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 zfvf af^f] :Nofk (nfg kl/>lds ^f]]n kl/>lds ^f]n 17 100,000 25 300,000 75 400,000
2= tNnf] nRsf dfly &f*f] af^f] :Nofk (nfg;fgf] ;'sf}nL 17 100,000 25 300,000 75 400,000
3= /ftf]df^] &f*f] af^f] :Nofk (nfg /ftf]df^] 17 116,667 25 350,000 75 466,667
4= gfnL lgdf{)f tyf Aoa:yfkg bdf/^f]n 17 81,667 25 245,000 75 326,667

398,333 1,195,000 1,593,333

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 ;+ud rf]saf^ km'^an u|fp)* hfg] 
af^f] :Nofk (nfg ;+ud Rff]s 18 100,000 25 300,000 75 400,000

2 gj/fh df]Qmfgsf] #/ x'b} dfly &f*f] 
hfg] af^f] af^f] df]Qmfg^f]n 18 100,000 25 300,000 75 400,000

3 ;flassf] s)f]{ vf]nf hfg] af^f] s)f]{vf]nf 18 100,000 25 300,000 75 400,000

300,000 900,000 1,200,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

vfg]kfgL tkm{

zlQmvf]nf vfg]kfgL l/h{e +̂sL lgdf{)f 50,000 25 150,000 75 200,000

efn' vf]nf vfg]kfgL of]hgf 16,667 25 50,000 75 66,667

h'Ogf vfg]kfgL of]hgf 16,667 25 50,000 75 66,667

cfsfzwf/f vfg]kfgL 16,667 25 50,000 75 66,667
l;rfO{ tkm{

zlQmvf]nf lnkm\^ l;rfO{ 33,333 25 100,000 75 133,333

e'ldut l;rfO{ ;DalGw of]hgf 33,333 25 100,000 75 133,333
ko{^sLo If]q

lzjk'/L ko{^sLo If]q 33,333 25 100,000 75 133,333

h?· u'Djf lgdf{)f 16,667 25 50,000 75 66,667
:jf:Yo tkm{

dft[lzz' lslNgs ejg lgdf{)f 50,000 25 150,000 75 200,000
v]ns'b tkm{

hDdf

j*f g+= 19

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

j*f g+= 18

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 

hDdf

j*f g+= 17



kz'klt :kf] \̂; Ps]*]dL v]ns'b ;fdfu|L 8,333 25 25,000 75 33,333

k':tsfno Joj:yfkg -kz'klt 
Snj cWoog s]Gb|_ 8,333 25 25,000 75 33,333

lr;fkfgL rf}/ ;+/If)f 16,667 25 50,000 75 66,667

300,000 900,000 1,200,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

vfg]kfgL
1 /fgLvf]nf vfg]kfgL 37,500 20 150,000     80 187,500
2 u'jfaf/L vfg]kfgL 25,000 20 100,000     80 125,000
3 vfg]kfgL dd{t ;'wf/ uf]ljGbk'/ u}/Lufp“ r'g*f*f 12,500 20 50,000      80 62,500
4 vfg]kfgL ^+sL lgdf{)f u}/L ufp“ b]lv vdf/] 12,500 20 50,000      80 62,500

cfo cfh{g nlIft ju{
1 ;fj''g tflnd gful/s ;r]tgf s]Gb| 8,333 25 25,000      75 33,333
2 blnt d'lQm ;d'x, uf]& ;'wf/ 8,333 25 25,000      75 33,333

;+# ;+:yf, d&dlGb/ tkm{
1 d':/f^L /fO{^f]n yfgLdfO{ 16,667 25 50,000      75 66,667
2 zf}rfno bz{g ljho rr{ 8,333 25 25,000      75 33,333
3 lszf]/L ;d'x u}/Lufp“ ejgsf] %fgf u}/Lufp“ 8,333 25 25,000      75 33,333
4 dlxnf ;d"x l;rfO{ /fgLvf]nf 12,500 20 50,000      80 62,500
5 vfg]kfgL u}/Lufp 25,000 20 100,000     80 125,000

175,000 650,000 825,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

vfg]kfgL tkm{

1
lr;fkfgL vfg]kfgL sfo{, vfg]kfgL 
jf]*{df x:tfGt/)f 
sfo{ ;DefJotf cWwog ;d]t

21

50,000 20 200,000 80 250,000
2 lqe'jggu/ vfg]kfgL of]hgf 21 50,000 20 200,000 80 250,000

ljBfno tyf :jf:Yo sfo{qmd

1 lqe'jg df=lj= ejg lgdf{)f 21 25,000 20 100,000 80 125,000
2 lghfgGb k|f=lj 21 12,500 20 50,000 80 62,500

nlIft ju{ sfo{qmd 21 12,500 20 50,000 80 62,500

150,000 600,000 750,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

vfg]kfgL tkm{

1
vfg]kfgL sf] nflu x]^f}*f vfg]kfgL 
jf]*{ dfkm{t 
dfi^/Knfg lgdf{)f ug]{ 25,000

20 100,000     80

125,000
2 ;fhjf]^], a'·] vfg]kfgL :t/Ls/)f 12,500 20 50,000      80 62,500
3 s'gf wf/f vfg]kfgL 6,250 20 25,000      80 31,250

l;rfO{ tkm{
1 c+uf/]Zj/ s[lif l;rfO{ 12,500 20 50,000      80 62,500

hDdfM–
j*f g+= 22

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 21

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf

j*f g+= 20

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



2 nIdLk'/ s[lif l;rfO{ 12,500 20 50,000      80 62,500
3 %d'/] s[lif l;rfO{ 25,000 20 100,000     80 125,000

ljBfno tkm{
1 afnaf]w p=df=lj= 25,000 20 100,000     80 125,000
2 nIdL lg=df=lj 12,500 20 50,000      80 62,500
3 dxfb]j k|f=lj 12,500 20 50,000      80 62,500

:jf:Yo tkm{
1 dsjfgk'/ x]Nykf]i^ ;+rfng ;xof]u 12,500 20 50,000      80 62,500
1 nlIft ju{ sfo{qmd 25,000 20 100,000     80 125,000
1 ko{^g :yn d& dlGb/ ;+# ;+:yf 25,000 20 100,000     80 125,000

206,250 825,000 1,031,250

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 lzIff tyf :jf:Yo tkm{
s=sflnb]jL k|f=lj ef}lts lgdf{0f 33,333 25 100,000 75 133,333
v=v]ns'b d}bfg ;+/If0f 33,333 25 100,000 75 133,333
u=gf=;=s] ejg lgdf{0f ef]n]{ 16,667 25 50,000 75 66,667

3=cgfy c;fxfo jfnjflnsf 
;+/If0f s]Gb| ef}lts lgdf{0f 16,667 25 50,000 75 66,667

2 Vffg]kfgL tkm{

s=ef]n]{ l;/fg6f]n,lar6f]n 
/ldt] vfg]kfgL cfof]hgf c+uf/]Zj/ >f]t 66,667 25 200,000 75 266,667

3 d7, dlGb/ tkm{
s=af3 e}/j dlGb/ ;+/If0f s]Gb| 16,667 25 50,000 75 66,667

4 nlIft ju{ pTyfg sfo{s|d tkm{ 16,667 25 50,000 75 66,667
200,000 600,000 800,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 lzIff tyf :jf:Yo tkm{
s= Hof]lt pRr dflj ef}lts lgdf{0f 33,333 25 100,000 75 133,333
v= uf]/If]Zj/ dflj ef}lts lgdf{0f 33,333 25 100,000 75 133,333
u= xgf{df8L x]Nykf]i6 ;+rfng vr{ 16,667 25 50,000 75 66,667

2 Vffg]kfgL tkm{

s= cfk vf]NrL b]lv ubf{gfL 
rf]s;Dd kfO{knfO{g lj:tf/ 16,667 25 50,000 75 66,667

3 ko{6g tyf d7 dGbL/ tkm{
s= xgf{df8L snf k|lti7fg| 33,333 25 100,000 75 133,333
v= l/of] a'4 u'Daf 41,667 25 125,000 75 166,667
u= uf]/If]Zj/ tfn ;+/If0f 16,667 25 50,000 75 66,667
3= uf]/If]Zj/ dGbL/ ;+/If0f 8,333 25 25,000 75 33,333

4 nlIft ju{ pTyfg sfo{qmd

hDdfM–
j*f g+= 24

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdf
j*f g+= 23

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



s= blnt, hghftL, dlxnf 
tyf afnaflnsf, n}}+lus lx+;f 
d'St sfo{qmd ;d]t 0 25 75 0

200,000 600,000 800,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 lzIff tyf :jf:Yo tkm{
s=sdnf lg=lj ef}lts lgdf{0f 33,333 25 100,000 75 133,333
v=k~rsGof k|flj ef}lts lgdf{0f 33,333 25 100,000 75 133,333
u=uf+p 3/lsln+s ef}lts lgdf{0f 33,333 25 100,000 75 133,333

2 nlIft ju{ pTyfg sfo{s|d tkm{

s= blnt, hghftL, dlxnf 
tyf afnaflnsf, n}}+lus lx+;f 
d'St sfo{qmd ;d]t 0 25 75 0

100,000 300,000 400,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 /fKtL k'n nfnemf*L s'n]vfgL 

t];|f] / #^] v }̂vf]nf df]]^/ 

af^f] hf]*\g] sfo{ 26 112,500 20 450,000 80 562,500

2 nfnemf*L lk|td^f]n vfg]kfgL of]hgf 26 25,000 20 100,000 80 125,000

3 nfdL*f*f vfg]kfgL of]hgf 26 25,000 20 100,000 80 125,000

4 ul%/L^f]n x'b} uf]n] ^f]n vfg]kfgL 26 25,000 20 100,000 80 125,000

5 hfu]Zj/L vfg]kfgL of]hgf 26 12,500 20 50,000 80 62,500

6 dlxnf ;r]]]tgf 

afnaflnsf,ckf*= a{@a{@fx?nfO{ 

cfod'ns sfo{s|d 26 25,000 20 100,000 80 125,000

225,000 900,000 1,125,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1
x]^F}+*F j*F g+= 27 df lgdf)F{ 

ePsf] af^F]x? xfn ;+rfngdf 

Nofpg g;lsg] af^f]x?nfO{ k'g 

;+rfngdf Nofpg] 27 250,000 20 1,000,000 80 1,250,000

250,000 1,000,000 1,250,000

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 lqmofl;n dlxnf ejg tyf 

sK^Lbdf/  ;fljs a;fdf*L−5 28 66,667 25 200,000 75 266,667

2 ldng^F]n nfdf^F]n vfg]kfgL 

kfO{k lj:tf/ ;fljs a;fdf*L−5 28 33,333 25 100,000 75 133,333

3 gl;{ª*F*F+ kfgL ^\ofªsL 

;Gtfg]Zj/ ;fljs a;fdf*L−3 28 100,000 25 300,000 75 400,000

4 dflyNnf] hDj" rf}tf/f vfg]kfgL 

of]hgf ;fljs a;fdf*L−3 28 100,000 25 300,000 75 400,000

hDdfM–
j*f g+= 28

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 27

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 26

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg

hDdfM–
j*f g+= 25

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg



5 ufd|L)f s[ifLdfu{ vf*Lbdf/ ;*s 

:t/pGgtL ;fljs a;fdf*L−3 28 100,000 25 300,000 75 400,000

6 afn pHjn df=lj= vfg]kfgL 

of]hgf ;fljs a;fdf*L−3 28 116,667 25 350,000 75 466,667

516,667 1,550,000 2,066,667

nf=;xeflutf k|ltzt gu/kflnsf k|ltzt hDdf

1 *F]bf]g %of]lnª jf]%' uDjf tyf 

cgfy k|f= lj, ef}lts k"jf{wf/ 

lgdf{)F ;fljs a;fdf*L−1,g]jf/kfgL29 50,000 25 150,000 75 200,000

2
c/lgsf] df=lj= :s"n rf]saf^ 

/fKtL emg]{ :Nofk jf^F] lgdf{)F ;fljs a;fdf*L−1 29 50,000 25 150,000 75 200,000

3 zf]srgdf{u r]kfª ^F]n hfg] 

:Nofk (nfg jf^f] lgdf{)F ;fljs a;fdf*L−1 29 66,667 25 200,000 75 266,667

4 s"gf^F]n jf}$ uDjf ejg (nfg ;fljs a;fdf*L−2 29 66,667 25 200,000 75 266,667

5 lgd{n pRRf df= lj= a:tLk"/ (n ;"wf/;fljs a;fdf*L−2 29 33,333 25 100,000 75 133,333

6
d"QmLdf{u vf]NrL shj]r, jf;"b]a 

rr{ b]lv k'n;Dd ;*s dd{t ;fljs a;fdf*L−2, jf;"b]a 29 66,667 25 200,000 75 266,667

7 df}jf^F/ h:tf#/] af^ rr{ hfg] 

af^f] :Nofk (nfg ;fljs a;fdf*L−2, a:tLk"/ 29 66,667 25 200,000 75 266,667

400,000 1,200,000 1,600,000hDdfM–

hDdfM–
j*f g+= 29

l;=g= cfof]hgfsf] gfd cfof]hgf ;+rfng x'g] :yfg j*f 
nfut cg'dfg


